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2. Kokbimwo ypokK: Eny geH Cepre

l. Text

Eny nen Cepre Mowkap-OnawTte unat. HyHo dwnait ypembiwTe, 12-w0 (N1aTKOKbIMLIO)
HomepaH NépTbIWTO nnat. Cepre 37 (Kymao wbim) naw. Tyao pefakumnbilTe Nallam biwTa.
Tyno *KypHanuct. Eny, TyabiH BaTbiKe, 35 (Kymsio BuY) naw. Tyao yHUBEPCUTETbILWITE Mapuii
MbINIMbIM TYHbIKTA. TyA,0 TYHbIKTbILIO.

Eny neH CepreH KOK Mo4vawT yno: apre geH yabip. proiwTbiH NYMKO JuaH. Tygo 14
(naTHbIN) MAW. Tyao WKOALIWTO TyHemew. YApIpbiThiH NYMKO AHyw. Tyao 5 (Buy) mauw.
Tyao Modvacaabi KowTeLl.

KanbikmyTt
KHura nnaw TyHbIKTa.

Il. Vocabulary

BaTe wife; woman HOMmep number

JeH and HOMepaH (of the) number /see IV.2./
unau (-em) to live HYHO they

noua child nawam to work

noyvacaz kindergarten AR L

MovacaaplL (s)he goes to nopr elER

KowrTeLl kindergarten cag, garden

nblime language; tongue TyHemall (-am) to learn, to study

KanblK people, nation TYHbIKTaLW (-em) to teach

KaNbIKMyT proverb yno (here:) has/have /see ll.8./
KHUra book yabip daughter; girl

KowTaw (-am) to go; to attend KON school

mapui

MyT

Mari; husband; man

word

biwTaw (-em)

apre

to do; to make, to build

son; boy
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Ill. Grammar

1. Verbs:

a) Infinitive: The infinitive of Mari verbs is formed with the invariable infinitive ending -aw:
myHemaw ‘to learn’, myHolkmaw ‘to teach’, kowmaw ‘to go’, unaw ‘to live’. Note that this
ending is written -qw if the /a/ of the infinitive ending is preceded by /j/: kaaw /kajas/ ‘to go,
to leave’.

b) First and second conjugations: Every Mari verb belongs to one of two conjugations (known
as conjugations | and 1l). To be able to use a Mari verb, it is necessary to know which
conjugation it belongs to. Since the infinitive form of the verb does not show the conjugation
class, and the conjugation class can be derived from the infinitive only in the case of certain
derivational suffixes, in this book the infinitive will be followed by either (-am) ~ (-am) or (-em)
~ (-am), these being the suffixes for the first person singular present tense. Thus myHemaw
(-am) ‘to learn’ and kowmaw (-am) ‘to go; to attend’ are first conjugation verbs and
myHeiIkmaw (-em) ‘to teach’ and usaw (-em) ‘to live’ are second conjugation verbs. The two
conjugation groups differ in morphology only — whether a verb belongs to conjugation | or |l
has no bearing on its meaning.

c) Present tense: In Mari linguistic terminology the present tense is called the present/future
tense, since its forms can refer to either the present or the future. In translations into English
the context determines which (English) tense is appropriate: Tydo népmeim eiwuma. ‘(S)he
builds a house.” ~ ‘(S)he will build a house.” It should also be noted that Mari does not
distinguish between simple and progressive forms, as English does. Thus, depending on the
context, the above sentence could also be translated as ‘(S)he is building a house’ or ‘(S)he
will be building a house’.

Endings of the present tense are added to the stem of the infinitive, i.e., infinitive minus -aw.
Regarding infinitives ending in -qw, see below.

d) Endings of the third person singular/plural: In the third person singular and plural, the
present tense indicative (the mood used in objective statements) the endings are as follows:

Conjugation | Conjugation Il
3Sg -ew (-aw) -a (-a)
3PI -bIT -at (-a7)

Example with myHemaw ‘to learn’ (conjugation |) and unaw ‘to live’ (conjugation Il).

Conjugation | Conjugation Il
3Sg | TyHemew nna
3Pl | TyHembIT uwnat

Note that the stress falls on all of the above verbal endings with the exception of the third
person plural, conjugation | (-e1m): HyHO Kowmeim ‘they go ~ they are going’, HyHo myHembim
‘they learn ~ they are learning’.

Orthography: Note the spelling of the forms of conjugation Il verbs whose stems end in /j/
and a vowel. Infinitives of these verbs end accordingly in -aw. Example: kaaw /kajas/ ‘to go,
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to leave’ > kaa /kaja/, kaam /kajat/. Also note the spelling of conjugation | verbs with stems
ending in a vowel: wyaw /Suas/ ‘to reach’ > wyasw /Sues/.

Impersonal usage: If the subject is not defined in the third person plural, sentences can be
read as impersonal: eazemeim yrwanam ‘newspapers are being sold (lit. (they) are selling
newspapers’).

2. Accusative case:
The ending of the accusative case is -(b/)m. The interrogative pronouns k6 ‘who’ and mo ‘what’
become kém ‘whom’ and mom respectively.

a) After an accented vowel the ending is -m.

Nominative Accusative
nawa work nawiam
Moya child noyam
Cepre Sergey Ceprem
Eny Yelu Enym

b) Word-final unaccented -e/-0/-6 becomes -6/ before -m.

Nominative Accusative
BaTe wife BaTbIM
TyAo he/she/it TYAbIM
Ky30 knife KY3bIM

Note that this rule also applies to Russian loan words ending in an unaccented -a: losnswa
‘Poland’ > Mosbwebim. In the case of some Russian loan words, unaccented final -e or -o may
remain: koge ‘coffee’ > kogpem.

c) After consonants the ending is -eim.

Nominative Accusative
nopT house nopTbIM
ypem street ypembim
MyT word MYTbIM
YPOK lesson YPOKbIM

3. Genitive case:
The ending of the genitive case is -(b1)H. The interrogative pronouns k6 ‘who’ and mo ‘what’
become kéH ‘whose’ and moH respectively.

a) After an accented vowel the ending is -H.

Nominative Genitive
nawa work nawaH
noya child noyaH
Cepre Sergey CepreH
Eny Yelu EnyH
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b) Word-final unaccented -e/-0/-6 becomes -b1 before -H.

Nominative Genitive
BaTe wife BaTbIH
TYyAOo he/she/it TYAbIH
Ky30 knife KV3bIH

Note that this rule also applies to Russian loan words ending in an unaccented -a: lMoaswa >
lMosbwbliH.

c) After consonants the ending is -b/H.

Nominative Genitive
nopT house NnOpTbIH
ypem street ypembiH
MyT word MYTbIH
YPOK lesson YPOKbIH

4. Possessive suffixes:
To indicate possession in a noun Mari uses possessive suffixes: Goyaxce ‘his/her child’,
toyawm ‘their child ~ their children’.

a) Possessive suffix —third person singular: The possessive suffixes in the third person singular
are: -xce/-#o/-m6 or -we/-wo/-wé.

al) After accented vowels and the voiced consonants i, s1, 16, M, H, Hb, H, and p, the ending
is either -xce, -»#co, or -#c6 in accordance with the rules of vowel harmony.

nawa work nawlaxe his/her work
nacy field nacy»o his/her field
KyTY herd KYTYIKO his/her herd

BEp place Beprke his/her place
YOH soul YOHXO his/her soul
yAabip daughter VAbIpKO his/her daughter

The suffix -x#ce, -3#c0, or -»#6 is also used after Russian loan words ending in s16, Hb, and pe:
nucamens ‘writer, author’ > nucamensice, uroHb ‘June’ > uroHbICO, ByKBaps ‘ABC, primer’ >
bykeapbuce.

a2) Word-final unaccented -e/-0/-6 becomes -b1 before -xe, -3#0 or -3o.

apre son aprbixke his/her son
poao relative POAbIXKO his/her relative(s)
Ky30 knife KY3bIXKO his/her knife

Short form: For words ending in vowels, the possessive suffix of the third person singular also
has a short form -, which is used before further suffixes, postpositions (words similar in
usage to prepositions in English, but placed after a word), and conjunctions: ayax« deHe ‘with
his/her father’ auaxcaan ‘to his/her father’. This short form can only be attached to stems
ending in a vowel (al and a2).
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a3) After the consonant -w, the ending is -enxe/-bico/-oié: nviwmaw ‘leaf’ >
aAslwmauwsixce, yw ‘mind, intellect’” > yweinco. (In the spoken language the ending here can
also be -we/-wo/-wé > nbiwmawwe.)

ad) After consonants (with the exception of the above-mentioned 0, 51, 16, M, H, Hb, H, and p)
the ending is -we/-wo/-wé.

népr house nopTwo his/her house

cag garden caglue his/her garden

MyT word MYTLLO his/her word

KaNblK people/nation Ka/sblKLLe his/her people/nation
Karas paper Karaswe his/her paper

b) Possessive suffix — third person plural: The possessive suffix in the third person plural
is -(b1)wm. This suffix indicates a plurality of possessors ‘their’ and can — depending on the
context — imply the plurality of what is possessed as well: Goyawm ‘their child’ or ‘their
children’.

b1) After accented vowels the ending is -wm.

nawa work nawawT their work

ona city onawT their city

ava father avawT their father
onmany | apple tree oNnmanywT their apple tree
KYTY herd KYTYLWT their herd

b2) A word-final unaccented -e/-o/-6 (as well as an unaccented final -a in Russian loan words)

becomes -b1 before -wm.

apre son aproiwT their son
Mblime language; tongue NbIIMbILWT their language
b3) After all consonants the ending is -eium.
nopT house nopTbIWT their house
yabip daughter yabipbIWwT their daughter
KON school WKONbILWT their school
BEp place BepbIWT their place

5. Order of possessive and case suffixes:

When possessive suffixes co-occur in a word with genitive or accusative case suffixes, the
order is: 1) possessive suffix + 2) genitive or accusative case suffix. Example: apee ‘son’ >
apabixcbIH ~ 3peblwmblH (possessive suffix + genitive), apabikbim ~ apabiumesim (possessive
suffix + accusative case suffix). Note that this ordering does not apply to all grammatical cases.

6. Possessive construction with two nouns:

When two nouns form a possessive construction (e.g., the boy’s name, the capital of the
country) the first element in Mari is the possessor word in the genitive followed by the
possessed word marked with the possessive suffix of the third person singular or plural: Eayx
apebiyce ‘Yelu's son’, CepeeH yobipxc6 ‘Serge’s daughter’, Eay deH CepeeH loyawm ‘Yelu and
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Serge’s child’. This rule also applies when the possessor word is mydo ‘(s)he’ or HyHO ‘they’:
myO0biH sambixce ‘his wife’, HyHbiH Goyawm ‘their child’.

If the possessed item itself is a possessor as well, it can have both a possessive suffix denoting
its possessor, and a genitive suffix linking it with the item it possesses. Note the following
example — ‘my father’s little brother’:

MoebllibiH a4amblH WObbIHCO

QI

7. Reciprocal possessive relationship:
When two nouns are in a possessive relationship in which both could equally be seen as the
possessor, the possessive suffix can be attached to both: auaxc deH apebiyce ‘father and son’.

8. ‘to have’:

Mari has no verb meaning ‘to have’. Instead, the following construction is used: 1) possessor
word (noun/pronoun) in the genitive, 2) the possessed word with the appropriate possessive
suffix, and 3) the irregular form of the verb ‘to be’ > yno ‘there is/are’. Especially in
combination with numerals and other quantifiers, ys0 is in practice frequently omitted.

EnyH mawmHaxe yno. Yelu has a car.

CepreH Kok nouaxe (yn10). Serge has two children.

EnyH mbiHApP 3prbixke (yn10)? How many sons does Yelu have?

Eny aeH CepreH noyawrt (yno)? Do Yelu and Serge have any children?

9. Ordinal numbers 1-50:

Ordinal numbers are formed by adding -mwe/-mwo/-mwé (-eimwe/-bimwo/-bimwd) to the
short form of the cardinal numbers. The variant added depends on vowel harmony and on
the way the cardinal number ends.

1) If the cardinal number ends in a consonant, the variant -eimwe/-eimwo/-bimwé is added:
Kok ‘two’ > kokbimuwio ‘second’, kaHdaw ‘eight’ > kaHdawbimwe ‘eighth’.

2) If the cardinal number ends in -m, the shortened variant -we/-wo/-wé is added: kym
‘three’ > kymwo ‘third’, weim ‘seven’ > weimuwe ‘seventh’,

3) Ifthe cardinal number ends in an unaccented -e/-0/-6, this final vowel becomes -6/ before
the ending -mwe/-mwo/-mwé is added: kono ‘twenty’ > koasimwo ‘twentieth’, sumne
fifty’ > sumaoimwe ‘fiftieth’.

4) Note in addition the usage of the reduced vowel in ay ‘ten’ > ayeimwo ‘tenth’ and
consonant alternation in suy ‘five’ > susbimuwe ‘fifth’ (see point 5 in the introduction, page
38).

In compound numbers, the ordinal suffix is only attached to the last element. The first
element remains unaltered, even when the ordinal as a whole is declined: k0510 KOKbIMW bIH
‘of the twenty-second’, kymsao weimweince ‘his thirty-seventh one’.
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15 | uKkbimLe 11*" | nratukbimwwe

2" | KoKbIMLIO 12 | natkokbImLWO

34 | kymwwo 13% | naTtkymuwo

4% | ybinbiMwe 14 | natHbINBIMWE

5t | Busbimle 15 | natBusbIMILE

6" | KyabiMmwwo 16" | natkygbiMmwo

7t | weimwe 17" | natwbimwe

8t | kanpawbImLwe 18" | natkaHpawbimwe
9th | pHpoewsbimie 19%" | natuHpewsbimie
10™ | nybimiIo 20" | KonbIMWwoO

215t | K010 UKbIMLLIE 34" | Kymno HbINbIMLLE
22" | K010 KOKbIMLLIO 40t | HbIIAbIMLLE

27t | kono weiMwwe 45t | Hbiine BU3bIMLE
30t | kymabiMwwo 46 | HbINE KyAbIMLLO
33t | kymno kymwo 50" | BUTABIMWIE

In the written language, abbreviated versions can be used, with the suffix -we/-wo/-wé using
the form dictated by vowel harmony: ukeimwe ~ 1-we, KOKbiMWo ~ 2-wo.

IV. Words and word usage

1. Months:

The names of the months are listed in the following table. The inessive case can be used with
the names of the months: mapm ‘March’ > mapmeiwume ‘in March’. In combination with
ordinal numbers, one can also use the inessive to refer to specific dates: anpesns ‘April’ > kos0
KOKbIMWoO anpesnbsiume ‘on the twenty-second of April’.

Nominative Inessive
AHBApPb January AHBapPbbILITE
deBpanb February deBpanbbiwTe
mapT March MmapTbiWwTe
anpenb April anpesbblwTe
EIZ May MaubiwTe
WIOHb June WIOHbbILITO
noNb July WIONbbILWTO
aBsrycr August aBrycTbIWTO
CeHTAbPb September CceHTAbpbbIWTE
OKTAGPb October OKTAbpbbLILWTE
HoAbGPb November HOAGpbbILWTE
Aekabpob December AekabpobblwTe

2. The derivational suffix -aH:

The productive derivational suffix -aH forms adjectives from nouns. It is used to denote
possession of the noun to which it is attached and can often be translated as ‘with’: kokeimwo
HomepaH népm ‘house number two (house with the number two)’, Kydeimwo HomepaH wkKon
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‘school number six (school with the number six)’, 8yd ‘water’ > gjda+ ‘watery’. The suffix will
be revisited in chapter 12.11.1. (page 169).

The suffix deletes unstressed final -e/-0/-6: apeae ‘son’ > sapeaH ‘having a son’. After a final -a
or -1, the suffix is simply -H: Goua ‘child’ > douyan ‘having a child’. Also note orthographic
peculiarities that occur, for example, when stems end in -U: suli ‘strength’ > susaH ‘strong’.
These phenomena were discussed in point 3 of the introduction, starting on page 32.

3. deH ‘and’:
Note that when nouns are coupled with the word OeH, suffixes are only attached to the last
item: Eny OeH CepeeH loyawm yno?

V. Exercises

1. Insert the following conjugated verbs into the appropriate sentences: kowmew, nawam
bilWwma, myHemew, und.

1) WBYK yHMBepcuTeTbIWTE ... .
2) Eny3wnai ypemblwrTe ....
3) Cepre pegakuumbiwTe ... .
4) AHywWw Moyacagpiw ... .

2. Insert the following conjugated verbs into the appropriate sentences: myHemoeim, nawam
biwmam, uaam, Kowmaeim.

1) Eny peH Cepre Wowkap-Onawre ... .
2) AHYK geH MBYK WKOAbIWTO ... .

3) Eny geH OnwoK ovacagbill ... .

4) MwuKnai geH d4aH ... .

3. In the following sentences put the verb into the third person singular or plural.

1) (vnaw) Eny Mowkap-OnawrTe ... . Eny aeH Cepre Mowkap-Onawre ... .

2) (TyHemal) dYaH LWKOALIWTO ... . 34aH AeH MBYK WIKObIWTO ... .

3) (biwTaw) Cepre pegakumnbiwTe Nawam ... . Cepre aeH MNOTbIp pegakUUMbILITE
nawam ... .

4) (KowTaw) AHywW iMoYacagblw ... . AHyw aeH ONoK Movacagpll ... .

5) (TyHbikTaw) Eny yHuBepcuTeTbiWwTe ... . ENy AeH MuKkna yHMBepCUTeTbILWTE ...

4. Read the following three dialogues and rewrite each of them three times using the words
given.

a) —  Eny kywTo una?
- Typo WMowkap-OnawTe una.
— Eny pgeH Cepre KywTo nnat?
- HyHo WMowkap-OnawTe nnar.

1) AmHa, AHa aeH Onok, *Mocko
2) Onwok, OnoK AeH 3proixke, *MopKo
3) 3yaH, dyaH AeH BaTbiKe, BoKcK

* Mopko ‘(town in Mari El, Russian Mopku)’, Mocko ‘Moscow’
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b) —  dyaH KywTo TyHemew?
—  TyAo WKOAbIWTO TYHEMeLL.
—  3yaH aeH MuKnal KywTo TYHembIT?
—  HyHO WKOAbIWTO TYHEMbIT.

1) AwHa, AHa aeH Onok, *nuuen
2) WByk, NByK aeH MNo6TbIp, *Konnegx
3) 3os, 30a geH MbiBaH, yHMBEpcUTET

* nuyel ‘specialized secondary school’, kos1e0x3 ‘technical secondary school’
c) — 304 KywWTO Nawam biwTta?
-  Tyapo *¢depmbiwTe nawam biwTa.

— 308 feH YapIpXKO KyLWTO Nawam biwTtaTt?
—  HyHoO pepmblwTe Nawam biwTar.

1) WByK, MBYK aeH 3proixke, *3aBog,
2) Muknain, Muknai AeH BaTbiXKe, KO/
3) 3uHa, 3uHa AeH yabip:ko, novacas,

* pepme ‘farm’, 3a600 ‘factory, plant’

5. Put the following words into the accusative case. Example: kHuza — kHuzam
nawa, nmo4a, ypem, duaH, Eny, Homep, pegakuunii, nopt, NByK, BaTe, yHMBEpCUTET,
nblname, nym, yabip

6. Put the words in parentheses into the accusative case.

1) 34yK (Mapui blIME) TYHbIKTA.
2) MNoTbip (*xMmuin) TyHemeLw.

3) Boablp (nawa) biwTa.

4) Eny peH Cepre (nOpT) biwTar.

* xumuli ‘chemistry’



62 MKbiMmLe Teme: MNanbime AUMbIHA

7. Read the following dialogue and then rewrite it twice using the words given.

— Cepre TyHbIKTbIWO. TyA0 YHBMBEPCUTETbILITE NALLAM bilTa.

— Cepre MOM TyHbIKTa?

—  Tyao mapuit MblAMbIM TYHbIKTa.

—  *A Eny mom blwTa?

—  Eny xxypHanuct. Tygo pefakumibiwTe Nawam blliTa.

—  A3prbiwt?

—  prblWT WKONLIWTO TYHEMELL.

— Tyno mom TyHemelww?

—  Tyao mapuit MblAIMbIM, *mMaTemMaTUKbIM, *OU3UKbIM, XUMUIbIM, *MCTOPUMbIM
TyHEMeLU.

1) Po3a: TYHbIKTbIWO, YHUBEPCUTET, *PpaHLUy3 Mblame; IUyK: *UHKeHep, 3aBOA;
YAbIPbIWT: WKOA, MaTeMaTuKe, GU3MKe, XUMUI

2) Onbra: TYHbIKTBIWO, WKOA, *6uonornii; MbisaH: *arpoHom, depme; 3prbiluT:
KOJI/IedxK, maTtematuke, GU3MKe, XUMUIN, UCTOPUIA

* g ‘and; but’, Mamemamuke ‘mathematics’, gpusuke ‘physics’, ucmopuii ‘history’, pparHuy3
‘French’, uHxceHep ‘engineer’, buosaoauli ‘biology’, aepoHom ‘agronomist’

8. Put the following nouns into the genitive case. Example: ypem — ypemoiH

Eny nawa iblime Mowkap-Ona
AHa noua BaTe KanblK

o/na apre Moyacag, yaH

nopt yabip Mocko MbiBaH

9. Add the possessive suffixes of the third person singular and plural to the following nouns.
Example: kHuea — KHuzaxce, KHu2awm

nopT Mnoya ona Mblime
ypem yaobip peaakuni Bep
nawa BaTe HOMep TYHbIKTbILLO

10. Answer the following questions. Example: Tude k6H KHuz2axce ? (AHYK) — AHYKbIH KHU2aM(e.
‘Whose book is this? It's Anuk’s.’

1) Twnae KOH ioyarke? (Cepre)
2) Tupae KOH yabipxko? (Eny)

3) Tuae KOH aprbixke? (AHa)

4) Twnge KOH BaTbike? (MOTbIP)
5) KOH KHUraxe? (TYHbIKTbILWO)
6) KOH yablpbIWT? (HYHO)
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11. Read the following dialogues and rewrite them using the words given.

a) —  Twunge KOH 3aprbike?
— Twnpe EnyH aprbixke.
—  ENyH MbIHAp 3prbiKe yno?
— WKk aprbixke.

1) Eny, yablp, ukte
2) Cepre, 3pre, UKkTe
3) Cepre, yablp, UKTe

b) — Eny geH CepreH ovawT yio?
- VYno.
—  HyHbIH MbIHAP MoYawT yno?
— Kok rovawrT yno.

1) 3osa geH MByK, io4a, KyMbIT.
2) AHna geH MNo6TbIp, Moya, BU3bIT

12. Write out the following dates and put them into the inessive case. Example: February 2"
> KOKbIMWO pespasb, on February 2" > kokbiMwo espanvoiume

(on) January 15t (on) July 14t

(on) February 12t (on) August 8t

(on) March 8t (on) September 17t
(on) April 22" (on) October 16t
(on) May 1%t (on) November 6%
(on) June 12t (on) December 25"

13. Write out the ordinal numbers in the following sentences.

1) Typo (16) HomepaH NOPTLIWTO UANa.

2) Vabipxd (2) *knaceblwTe TyHemeLw.

3) SprbixKe (7) KNaccbiWTe TYHEMELL.

4) WMoyawT (1) HomepaH oYacagplLl KoL TeLl.
5) 3SprbiwT (6) HOMEpaH LWKObILW KoLiTeLw.

* knacc ‘class’
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14. Read the following dialogue and rewrite it using the words given.

— Eny geH Cepre KywTto unat?

—  Eny peH Cepre Mowkap-OnawTe, dwnait ypembiwTe, 12-110 HOMepaH NOpTbITO
nnar.

— Cepre mblHAp nAw?

—  Cepre 37 (Kymno wbim) naw.

— TypAo KywTo nawam biwTta?

—  PepakuumblwTe.

— Tyno mom biwTa?

—  TyA[o *KypHaAuUCT.

— TyAblH BaTbIXKe KO?

—  TyAo TYHbIKTbILWO.

—  Tyao mbiHAp naw?

—  Typno 39 (Kymno nHgew) naw.

—  HyHbIH MoYawT yno?

- VYno.

—  HyHbIH MbIHAP MoYaLwT yno?

— KoK MoyvawT: apre aeH yaplp.

—  IPrbllWT MbIHAP UALW?

— 14 (natHbIN) MAW.

— Tyao mom biwTa?

—  TyAo WKOAbIWTO TYHEMeLL.

— A yablpblwT?

—  VapipbiwT MY naw. Tyao oyacaabill KowTeL.

—  HyHbIH NYMbILWIT *Ky3e?

—  IprolWTbiH 1YMKO J4aH, YAbIPbIWTbIH — AHYLL.

Ona geH d4aH, MopKo *paioH, Wyprbian, 45 uii, bepme, arpoHom, *cekpeTapb,
40 i, 18 uiA, *cTyaenT, 12 nit, wkon, MbisaH, AHYK.

* Ky3e ‘how’, pation ‘district’, cekpemaps ‘secretary’, cmydeHm ‘student’

15. Translate into Mari.

Miklay and Vera live in Kazan /O3aw/. They live on Pushkin Street in house number 45.
Miklay works at a secondary school /auueli/. He teaches history. His wife is studying
/myHemauw/ at a university. They have one child. His name is Potyr /[Témesip/. He is
five years old. He goes to kindergarten.

16. Write down the dictation.



